Algebra I Homework #19

1) Factor: 24x’a—118x"a +144xa
2) Factor: 94y —198ay +360y

3)  Simplify: +/5202x°y%a"

4) Factor: 2y°x” —32x"y
5) Factor: 15xa—>5a—21x" +7x
6) Solve: 40x* —14x=6
2x° +20x—48 4x* -9
2x°—7x+6  6x> +81x+108
8) Solve: (x—4)(x+8)=13
L X —x . 6x> —2x—8
2 Sy R4 6% —23x+20
10) Solve: 8x° +30x”> =108x
2x°ya’®  64x’y’a
S4xya’ N 48xy°a’
12) Solve: 169x* —=121=0
12xy—3x+20y-5 16y°—1 36> —15y-6
126 —34x—90  8x° —162x 16x +8x—288
14) Solve: (x—8)(x—9)=12
686x*y’a 294x2 ‘o’
735x5yzaz3 196xy°a
16) Solve: 24x* —118x =—144
x*—4x—32 6x° —216x
3x —42x° +144x x> +3x° —18x
18) Solve: 3x°+39x* =90x
3x° +45x+162 3x* —6x—144

lif
Sy S 54 22 — 22148
Solve: (x—4)(x+6)=-16

7)  Simplify:

11) Simplify:

13) Simplify:

15) Simplify:

17) Simplify:

19)
20

N
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